December 1996 Disproportionate Share Payments

Chapter 1187.111 Disproportionate Share Payments for full year cost reports ending December 31, 1996. Accepted as of September 22, 1997.

Name	Reported Available Days	Reported Actual Days	Jan/Dec 1996 Paid Claims	Group	Per Diem	Total Payment
ABINGTON MANOR NURSING & REHAB	43,920	42,676	21,461			\$0.00
ADAMS MANOR	50,874	49,432	37,992			\$0.00
ALLEGHENY MANOR	44,040	35,164	25,354			\$0.00
ARMSTRONG COUNTY HEALTH CENTER	69,350	57,042	51,221			\$0.00
ASBURY HEALTH CENTER	53,070	50,568	12,897			\$0.00
ATLAS DEVELOPMENT ASSOCIATES, ICN. T/A MOUNT CARMEL NRS & REHAB CENTER	44,286	42,613	30,729			\$0.00
ATRIUM I NURSING & REHAB CENTER	43,920	25,381	9,811			\$0.00
ATTLEBORO NURSING & REHABILITATION CTR.	65,514	63,108	38,570			\$0.00
BEAVER VALLEY GERIATRIC CENTER	245,952	235,695	218,068	А	2.58	\$562,615.44
BELLE HAEN ASSOCIATES	21,594	19,419	9,580			\$0.00
BERKS COUNTY HOME	292,434	278,887	267,140	А	2.58	\$689,221.20
BETHANY VILLAGE	25,254	23,201	6,386			\$0.00
BEVERLY MANOR-MONROEVILLE	43,920	41,060	25,761			\$0.00
BEVERLY MANOR-READING	45,384	44,212	30,444			\$0.00
BEVERLY MANOR OF LANCASTER	50,874	34,503	29,279			\$0.00
BIRCHWOOD NURSING AND REHABILITATION CENTER	44,286	42,096	28,495			\$0.00
BLAKELY PINE HEALTHCARE CENTER	13,908	13,768	4,821			\$0.00
BLOOMSBURG HEALTH CARE CENTER	56,210	51,385	40,243			\$0.00
BLOSE MCGREGOR HCC	32,340	12,400	7,556			\$0.00
BLUE RIDGE HAVEN EAST	34,770	33,537	17,543			\$0.00
BLUE RIDGE HAVEN WEST	114,558	81,514	61,692			\$0.00
BONHAM NURSING CENTER	25,620	24,134	19,683	Е	0.31	\$6,101.73
BRADFORD COUNTY MANOR	82,716	80,746	70,459	С	1.03	\$72,572.77
BRADFORD ECUMENICAL HOME	36,600	35,298	20,321			\$0.00
BRADFORD MANOR	44,286	40,186	25,175			\$0.00
BRIARCLIFF NURSING CENTER ASSOCIATES T/A BRIARCLIFF PAVILION	43,920	39,501	29,427			\$0.00
BRIARCLIFF NURSING CENTER ASSOCIATES T/A KADE NURSING HOME	27,084	22,492	14,532			\$0.00
BRINTON MANOR HEALTH CARE	33,672	29,715	12,936			\$0.00
BRITTANY POINTE ESTATES	33,672	31,018	11,394			\$0.00

BROAD ACRES NURSING HOME	43,920	42,654	28,334			\$0.00	
BROOKLINE MANOR	31,110	28,912	14,631			\$0.00	
BROOMALL PRESBYTERIAN HOME	53,802	52,605	23,208			\$0.00	
BUFFALO VALLEY LUTHERAN VILLAGE	40,260	38,899	22,399			\$0.00	
CALEDONIA MANOR	37,332	34,207	28,184	Е	0.31	\$8,737.04	
CAMP HILL CARE CENTER	42,360	33,672	24,129			\$0.00	
CANTERBURY PLACE	21,594	20,663	7,059			\$0.00	
CARBON COUNTY HOME FOR THE AGED	73,000	71,643	60,616	D	0.62	\$37,581.92	
CARBONDALE NURSING HOME INC	38,430	35,465	29,337	Е	0.31	\$9,094.47	
CARPENTER CARE CENTER	45,384	44,544	28,886			\$0.00	
CEDAR HAVEN NURSING HOME	146,400	141,193	128,695	А	2.58	\$332,033.10	
CEDARBROOK	300,486	296,437	281,061	А	2.58	\$725,137.38	
CENTRAL CARE CENTER	16,836	15,774	11,220			\$0.00	
CENTRE CREST	74,060	71,939	58,121	F	0.21	\$12,205.41	
CHAPEL POINTE AT CARLISLE	21,594	20,636	12,720			\$0.00	
CHERRY TREE NURSING CENTER	31,110	21,145	9,408			\$0.00	
CHURCH OF GOD HOME, INC.	39,894	39,177	15,899			\$0.00	
CLARION CARE NURSING HOME	52,704	34,835	26,678			\$0.00	
CLARVIEW NURSING & REHAB. CENTER	43,920	40,640	29,300			\$0.00	
CLEPPER CONVALESCENT HOME	21,228	17,904	9,524			\$0.00	
COLLINS NURSING HOME	25,986	23,173	19,427			\$0.00	
COLONIAL MANOR NURSING HOME	91,134	84,979	42,122			\$0.00	
CONESTOGA VIEW	166,164	159,246	143,122	А	2.58	\$369,254.76	
CORNWALL MANOR	49,410	46,587	23,735			\$0.00	
CORRY MANOR	44,286	39,507	26,207			\$0.00	
COUNTRY MEADOWS OF SOUTH HILLS	73,932	71,162	16,741			\$0.00	
CRAWFORD COUNTY CARE CENTER	60,390	56,854	43,460			\$0.00	
CUMBERLAND COUNTY NURSING HOME	141,642	137,731	121,575	В	1.75	\$212,756.25	
CURWENSVILLE NURSING HOME, INC.	47,946	41,280	32,685			\$0.00	
DAUPHIN MANOR	155,520	148,421	136,612	А	2.58	\$352,458.96	
DORRANCE MANOR NURSING & REHAB	55,266	52,123	39,381			\$0.00	
DOYLESTOWN MANOR	43,920	42,084	30,995			\$0.00	
EAST MOUNTAIN MANOR	43,920	42,565	31,488			\$0.00	
EDINBORO MANOR	44,286	40,932	30,387			\$0.00	
ELIZA CATHCART HEALTH CENTER	23,058	21,805	5,479			\$0.00	
EPHRATA MANOR	43,800	43,082	17,225			\$0.00	
EPWORTH MANOR	37,230	36,748	17,253			\$0.00	

ERIE REHABILITATION AND NURSING	42,090	39,144	27,635			\$0.00
EVANGELICAL MANOR	43,920	42,688	28,855			\$0.00
EVERGREEN NURSING CENTER	42,090	37,738	22,342			\$0.00
E.C.C. RETIREMENT VILLAGE	55,632	53,240	26,017			\$0.00
FAIR ACRES GERIATRIC CTR.	328,584	319,942	304,909	А	2.58	\$786,665.22
FAIRVIEW MANOR	44,286	42,546	33,461			\$0.00
FAYETTE HEALTH CARE CENTER	43,920	41,710	28,750			\$0.00
FOREST PARK HEALTH CENTER	41,724	38,888	20,285			\$0.00
FRANKLIN CARE CENTER	43,790	37,278	30,494			\$0.00
FRANKLIN COUNTY NURSING HOME	81,984	57,592	52,431			\$0.00
FREDERICK MENNONITE COMMUNITY	21,960	20,933	9,013			\$0.00
FREY VILLAGE	49,776	48,588	21,381			\$0.00
FRIENDS NURSING HOME OF BUCKS QUARTERLY MEETING INC.,AKA CHANDLER HALL	19,398	19,156	5,727			\$0.00
GARVEY MANOR	54,900	52,702	34,652			\$0.00
GETTYSBURG LUTHERAN RETIREMENT VILLAGE	36,600	35,083	12,714			\$0.00
GRACE COMMUNITY HEALTHCARE CENTER	21,960	19,327	3,039			\$0.00
GRACEDALE NURSING HOME	289,140	283,268	269,564	А	2.58	\$695,475.12
GRANDVIEW HEALTH CARE	53,802	31,974	24,802			\$0.00
GREEN ACRES- ADAMS COUNTY HOME	57,096	53,490	47,089	В	1.75	\$82,405.75
GREENSBURG NURSING & CONV. CENTER, INC.	43,920	30,546	13,423			\$0.00
HAIDA MANOR	37,332	35,377	27,231			\$0.00
HANOVER HALL	57,096	52,819	25,441			\$0.00
HARMON HOUSE CONVALESCENT CENTER	39,396	36,944	24,578			\$0.00
HARRISON HOUSE OF CHRISTIANA	50,874	45,908	26,348			\$0.00
HAVEN CONVALESCENT HOME, INC.	33,306	32,146	27,309	D	0.62	\$16,931.58
HEALTH CENTER AT FRIENDSHIP VILLAGE OF SOUTH HILL	32,574	28,126	446			\$0.00
HEALTHSOUTH- RENOVA CENTER	35,868	28,229	834			\$0.00
HEATHERBANK	65,880	56,740	43,260			\$0.00
HEMPFIELD MANOR	43,920	40,372	29,232			\$0.00
HICKORY HOUSE NURSING HOME	36,600	35,019	12,261			\$0.00
HILL VIEW MANOR	49,776	43,455	37,834			\$0.00
HILLVIEW CARE CENTER	49,410	46,486	37,156	F	0.21	\$7,802.76
HOLY FAMILY HOME	24,090	22,762	18,575	Е	0.31	\$5,758.25
HOLY FAMILY MANOR	76,128	74,110	45,177			\$0.00
HOLY FAMILY RESIDENCE	21,228	20,513	17,643	С	1.03	\$18,172.29
HOMETOWN NURSING AND REHAB CENTER	54,900	51,927	37,336			\$0.00

HOMEWOOD AT PLUM CREEK	43,920	42,673	10,951			\$0.00
HOPKINS HOUSE NRC	39,162	34,835	21,395			\$0.00
HOSPITALITY CARE CENTER OF HERMITAGE, INC.	10,248	9,743	6,701			\$0.00
IHS AT CHESTNUT HILL	73,200	67,796	50,739			\$0.00
IHS AT JULIA RIBAUDO	43,920	42,059	23,849			\$0.00
IHS AT MONTAIN VIEW	50,142	44,068	27,718			\$0.00
IHS AT WHITEMARSH	90,402	84,028	57,046			\$0.00
IHS OF BRYN MAWR AT THE CHATEAU	58,248	48,753	33,704			\$0.00
IHS OF ERIE AT BAYSIDE	51,606	47,171	31,214			\$0.00
IHS OF GREATER PITTSBURGH	43,920	38,982	13,712			\$0.00
IHS OF HERSHEY AT WOODLANDS	77,958	63,771	45,022			\$0.00
IHS OF PENNSLYVANIA AT BROOMALL	111,996	102,772	71,127			\$0.00
IHS OF PENNSYLVANIA AT MARPLE	45,018	42,425	31,278			\$0.00
IHS OF PENNSYLVANIA AT PLYMOUTH HOUSE	55,998	50,661	35,027			\$0.00
INDIAN HAVEN NURSING CENTER	49,275	42,766	33,674			\$0.00
JEWISH HOME OF EASTERN PENNSYLVANIA	64,050	62,060	42,605			\$0.00
JOHN J. KANE REGIONAL CENTER- GLEN HAZEL	131,400	111,110	104,021			\$0.00
JOHN J. KANE REGIONAL CENTER- MCKEESPORT	131,400	126,643	114,498	А	2.58	\$295,404.84
JOHN J. KANE REGIONAL CENTER - ROSS TOWNSHIP	131,400	121,953	116,827	A	2.58	\$301,413.66
JOHN XXIII HOME	32,940	31,799	10,930			\$0.00
JULIA POUND HEALTH CENTER	65,880	58,563	33,742			\$0.00
KINGSTON HCC	23,790	22,448	8,574			\$0.00
KINZUA VALLEY	40,626	35,569	19,430			\$0.00
LADIES GAR HOME	27,176	21,550	16,090			\$0.00
LAFAYETTE MANOR, INC.	35,868	34,099	28,739	D	0.62	\$17,818.18
LANCASHIRE HALL	87,840	81,144	59,536			\$0.00
LAPORTE UNITED METHODIST HOME	43,920	39,977	31,118			\$0.00
LAUREL CREST MANOR	219,098	202,317	179,816	В	1.75	\$314,678.00
LAUREL NRC	61,488	55,639	25,892			\$0.00
LAUREL WOOD CONVALESCENT CENTER	43,436	38,701	18,262			\$0.00
LEBANON VALLEY BRETHREN HOME	37,546	34,610	14,180			\$0.00
LEBANON VALLEY HOME	20,075	19,468	9,307			\$0.00
LEWISBURG UNITED METHODIST HOME	84,180	81,237	42,410			\$0.00
LITTLE FLOWER MANOR	48,678	47,958	35,348			\$0.00
LITTLE SISTERS OF THE POOR	17,928	15,815	14,492			\$0.00
LOCUST GROVE RETIREMENT VILLAGE	28,914	27,814	18,185			\$0.00

LOGAN SQUARE EAST	46,848	43,334	23,372	\$0.00
LOYALHANNA CARE CENTER	42,456	37,756	24,830	\$0.00
LUTHER ACRES	38,796	37,866	13,233	\$0.00
LUTHER WOODS NURSING HOME, LTD.	51,240	49,390	16,238	\$0.00
LUTHERAN HOME AT TOPTON	85,304	82,765	41,656	\$0.00
LUTHERAN HOME FOR THE AGED	41,724	34,541	25,803	\$0.00
LUTHERN HOME AT KANE	32,940	31,985	23,949	\$0.00
MAHONING VALLEY NURSING & REHAB CENTER	54,900	49,010	33,369	\$0.00
MALTA HOME FOR THE AGING	14,640	14,103	8,943	\$0.00
MANOR CARE HEALTH SERVICES- ALLENTOWN	55,964	52,911	15,440	\$0.00
MANOR CARE HEALTH SERVICES- BETHEL PARK	58,560	54,917	18,805	\$0.00
MANOR CARE HEALTH SERVICES- CHAMBERSBURG	76,860	70,038	30,512	\$0.00
MANOR CARE HEALTH SERVICES- DALLASTOWN	67,292	64,579	45,278	\$0.00
MANOR CARE HEALTH SERVICES- HUNTINGDON VALLEY	43,920	35,760	5,287	\$0.00
MANOR CARE HEALTH SERVICES- JERSEY SHORE	43,920	41,971	27,256	\$0.00
MANOR CARE HEALTH SERVICES- KING OF PRUSSIA	51,240	45,809	9,392	\$0.00
MANOR CARE HEALTH SERVICES- KINGSTON EAST	65,268	62,364	42,234	\$0.00
MANOR CARE HEALTH SERVICES- LAURELDALE	65,148	60,492	27,651	\$0.00
MANOR CARE HEALTH SERVICES- LEBANNON	55,202	49,929	21,643	\$0.00
MANOR CARE HEALTH SERVICES- MCMURRAY	51,240	44,614	22,297	\$0.00
MANOR CARE HEALTH SERVICES- NORTH HILLS	67,260	60,763	19,276	\$0.00
MANOR CARE HEALTH SERVICES- POTTSTOWN NORTH	60,390	54,292	26,774	\$0.00
MANOR CARE HEALTH SERVICES- POTTSVILLE	65,514	61,166	34,030	\$0.00
MANOR CARE HEALTH SERVICES- SINKING SPRING	78,688	73,594	32,920	\$0.00
MANOR CARE HEALTH SERVICES- SUNBURY	46,116	43,955	27,280	\$0.00
MANOR CARE HEALTH SERVICES- WEST READING	64,416	61,506	37,417	\$0.00
MANOR CARE HEALTH SERVICES-EASTON	83,082	77,155	33,452	\$0.00
MANOR CARE HEALTH SERVICES - BETHLEHEM I	77,958	75,091	40,477	\$0.00
MANOR CARE HEALTH SERVICES - CARLISLE	54,900	50,527	19,082	\$0.00
MANOR CARE HEALTH SERVICES - ELIZABETHTOWN	24,780	22,870	9,773	\$0.00
MANOR CARE HEALTH SERVICES - WHITEHALL	63,318	58,377	22,084	\$0.00
MANOR CARE HEALTH SERVICES - YEADON	72,468	68,921	27,716	\$0.00

MANOR CARE HEALTH SERVICES BETHLEHEM II	80,886	74,813	48,553			\$0.00
MANOR HEALTHCARE SERVICE- CAMP HILL	37,698	36,219	7,762			\$0.00
MANORCARE HEALTH SERVICES - HARRISBURG	87,840	85,455	55,383			\$0.00
MANORCARE HEALTH SERVICES - WILLIAMSPORT	42,456	40,269	29,912			\$0.00
MANSION MANOR	25,741	24,512	15,887			\$0.00
MAPLE FARM NURSING CENTER	45,018	25,144	3,167			\$0.00
MARIA JOSEPH MANOR	21,960	21,305	11,424			\$0.00
MASONIC HOMES	165,302	158,670	111,784			\$0.00
MEADVILLE HEALTH AND REHAB CENTER	51,972	32,268	27,024			\$0.00
MEDIA NIPPLE CONVALESCENT HOME	8,418	7,859	7,060	А	2.58	\$18,214.80
MEDICAL ARTS NURSING CENTER INC	23,058	22,559	7,100			\$0.00
MENNO-HAVEN PENN HALL, INC.	21,960	21,527	2,720			\$0.00
MENNO-HAVEN, INC.	63,318	61,287	17,468			\$0.00
MERCER COUNTY LIVING CENTER	45,750	37,219	32,510			\$0.00
MERCY CENTER NURSING UNIT, INC.	21,594	19,172	16,918			\$0.00
MERCY HEALTH CARE CENTER	40,260	39,431	28,994			\$0.00
MEYERSDALE MANOR	36,234	34,779	24,413			\$0.00
MICHAEL MANOR	38,796	32,355	20,572			\$0.00
MIFFLIN HEALTHCARE CENTER	49,776	47,346	31,934			\$0.00
MILFORD VALLEY CONVALESCENT HOME, INC.	29,280	22,317	9,703			\$0.00
MISERICORDIA CONVALESCENT HOME	20,130	17,800	6,596			\$0.00
MONTGOMERY COUNTY GERIATRIC & REHABILITATION CENTER	216,306	210,834	197,778	A	2.58	\$510,267.24
MORAN'S HOME	13,542	12,277	7,425			\$0.00
MORAVIAN MANORS, INC.	47,580	42,012	13,803			\$0.00
MORRISONS COVE HOME	34,997	30,619	18,119			\$0.00
MOUNT LEBANON MANOR	44,286	42,923	21,548			\$0.00
MOUNTAIN VIEW	32,574	28,444	20,953			\$0.00
MOUNTAIN VIEW MANOR	116,022	107,887	94,318	С	1.03	\$97,147.54
MURRAY MANOR HEALTH AND REHAB CENTER	45,018	42,015	31,869			\$0.00
NESHAMINY MANOR HOME	131,760	125,024	121,682	А	2.58	\$313,939.56
NIPPLE CONVALESCENT CENTER	13,542	11,255	9,799			\$0.00
NORTH PENN CONVALESCENT CENTER	46,116	43,271	35,511	Е	0.31	\$11,008.41
NOTTINGHAM HEALTH CARE SERVICES, INC.	44,286	41,507	23,927			\$0.00
NUGENT CONVALESCENT HOME	36,966	24,057	16,388			\$0.00
OAKMONT NURSING HOME	31,110	27,025	16,029			\$0.00
ODD FELLOWS HOME OF PENNSYLVANIA	37,332	36,342	19,611			\$0.00

OHESSON MANOR	49,044	47,428	30,313			\$0.00
OIL CITY PRESBYTERIAN HOME	44,286	42,475	31,601			\$0.00
OVERLOOK MEDICAL CENTER	42,090	39,191	24,476			\$0.00
OVERLOOK NURSING CENTER ASSOCIATES T/A SILVER OAKS NURSING CENTER OXFORD MANOR HEALTH CENTER	22,692 51,240	21,424 48,199	17,314 21,556	F	0.21	\$3,635.94 \$0.00
PAUL'S RUN	43,920	48,199	11,433			\$0.00
PENN LUTHERAN VILLAGE		,				\$0.00
	72,102	70,483	46,312			
	48,678	46,936	34,455			\$0.00
	45,018	44,190	22,433			\$0.00
	38,796	37,022	17,602			\$0.00
PHOENIXVILLE CONVALESCENT	52,704	45,711	30,361			\$0.00
PLEASANT VALLEY MANOR, INC.	63,684	61,917	56,986	A	2.58	\$147,023.88
PLEASANT VIEW RETIREMENT COMMUNITY	47,694	44,506	22,259			\$0.00
POCOPSON HOME	132,126	127,860	114,945	A	2.58	\$296,558.10
PRESBYTERIAN HOME FOR THE AGED	10,248	5,833				\$0.00
PRESBYTERIAN HOME OF REDSTONE PRESBYERY	15,006	14,252	6,997			\$0.00
PRESBYTERIAN HOME OF THE MOSHANNON VALLEY	43,920	41,451	27,234			\$0.00
PRESBYTERIAN HOMES - HOLLIDAYSBURG	24,522	23,842	12,967			\$0.00
PRESBYTERIAN LODGE- ERIE	20,130	19,793	10,275			\$0.00
PRESBYTERIAN MEDICAL CENTER OF OAKMONT PA, INC.	73,730	70,064	30,903			\$0.00
PRESBYTERIAN MEDICAL CENTER OF WASHINGTON, PA INC.	58,194	53,217	24,256			\$0.00
PROVIDENCE HEALTH CARE CENTER	65,880	62,812	53,183	D	0.62	\$32,973.46
QUAKERTOWN MANOR	50,508	46,982	35,394			\$0.00
QUINCY UNITED METHODIST HOME	71,370	65,083	36,689			\$0.00
REFORMED PRESBYTERIAN HOME	21,228	20,137	9,431			\$0.00
RHEEMS NURSING CENTER INC	14,970	14,584	7,983			\$0.00
RICHLAND MANOR	35,502	33,816	25,008			\$0.00
RIVERS EDGE NURSING AND REHAB CENTER	43,920	42,646	22,980			\$0.00
RIVERSIDE NURSING CENTER	43,920	41,142	24,057			\$0.00
RIVERSTREET MANOR	44,652	42,600	23,437			\$0.00
ROCHESTER MANOR	44,652	40,098	17,568			\$0.00
ROLLING FIELDS INC	66,978	51,861	37,551			\$0.00
ROSEMONT MANOR	27,816	27,031	19,516			\$0.00
ROUSE-WARREN COUNTY HOME	69,174	68,368	58,700	С	1.03	\$60,461.00
RYDAL PARK MEDICAL CENTER	43,920	41,712	4,713			\$0.00
SAINT JOSEPH NURSING & HEALTH CARE CENTER	57,828	55,068	39,646			\$0.00

SARAH A. TODD MEMORIAL HOME	38,157	35,075	23,137			\$0.00
SAXONY HEALTH CENTER	24,888	24,002	12,023			\$0.00
SC INVESTORS, INC. T/A UNIVERSITY PARK NRS CENTER	58,926	51,467	41,347			\$0.00
SCENERY HILL MANOR, INC.	21,228	16,065	9,125			\$0.00
SENA KEAN MANOR	57,828	54,554	45,753	D	0.62	\$28,366.86
SHENANGO PRESBYTERIAN HOME	9,125	7,845	2,864			\$0.00
SHIPPENSBURG HEALTH CARE CENTER	45,625	16,504	6,741			\$0.00
SHREWSBURY LUTHERAN RETIREMENT VILLAGE	36,600	35,888	14,773			\$0.00
SIDNEY SQUARE CONVALESCENT CENTER	52,903	44,877	27,759			\$0.00
SIMPSON HOUSE	50,005	45,673	26,111			\$0.00
SNYDER MEMORIAL HEALTH CARE CENTER	36,600	28,090	24,883			\$0.00
SOUTH HILLS HEALTH AND REHAB CENTER	38,064	35,697	26,165			\$0.00
SPANG CREST	38,430	37,411	13,234			\$0.00
SPRINGS MANOR CARE CENTER	32,301	28,855	20,857			\$0.00
ST LIKE PAVILION	43,920	41,590	28,690			\$0.00
ST LUKE MANOR	38,064	35,662	27,342			\$0.00
ST MARY'S HOME OF ERIE INC	83,420	82,600	37,786			\$0.00
STENTON HALL NURSING HOME	32,574	31,032	24,859	F	0.21	\$5,220.39
STONEBRIDGE HEALTH & REHAB. CENTER	21,960	20,337	13,663			\$0.00
STROUD MANOR	47,214	43,796	28,205			\$0.00
ST. MARY'S NURSING HOME INC	40,992	40,677	28,069			\$0.00
ST. PAUL HOMES	82,716	78,824	52,046			\$0.00
SUMMIT HEALTH CARE	43,920	42,600	30,820			\$0.00
SUNNYVIEW HOME	87,840	84,977	72,879	С	1.03	\$75,065.37
SUNSET MANOR	28,162	26,698	18,050			\$0.00
SUSQUE-VIEW HOME	60,024	58,477	49,315	D	0.62	\$30,575.30
SUSQUEHANNA LUTHERAN VILLAGE	74,298	72,435	47,426			\$0.00
SWAIM HEALTH CENTER	25,844	23,775	8,574			\$0.00
SWEDEN VALLEY MANOR	44,286	42,330	28,980			\$0.00
SYCAMORE MANOR HEALTH CENTER	48,678	43,917	25,873			\$0.00
THE BETHLEN HOME	37,698	34,508	22,369			\$0.00
THE KEPLER HOME , INC.	13,186	12,275	10,192	Е	0.31	\$3,159.52
THE LUTHERAN HOME AT HOLLIDAYSBURG	32,574	31,759	17,982			\$0.00
THE LUTHERAN HOME AT JOHNSTOWN	22,326	21,607	12,612			\$0.00
THE MARY J. DREXEL HOME	10,980	10,421	5,142			\$0.00
THE MASONIC HOME OF PENNSYLVANIA	27,450	25,697	16,375			\$0.00
THE NEW HERITAGE TOWERS	21,960	19,516	6,862			\$0.00

THE PRESBYTERIAN HOME AT 58TH STREET	18,300	17,956	14,175			\$0.00
THE SHOOK HOME	23,424	22,787	7,195			\$0.00
THE WILLIAMSPORT HOME	54,534	51,273	32,462			\$0.00
THE WOODWELL	10,614	8,912				\$0.00
THORNWALD HOME	30,295	29,311	11,632			\$0.00
TOWNE MANOR EAST	43,920	42,580	31,147			\$0.00
TOWNE MANOR WEST	43,920	41,374	28,706			\$0.00
UNITARIAN UNIVERSALIST HOUSE	14,274	13,590	4,031			\$0.00
UNITED CRISTIAN CHURCH HOME	12,078	11,457	3,734			\$0.00
UNITED ZION RETIREMENT COMMUNITY	21,594	20,748	11,106			\$0.00
VALEY VIEW HOME	89,304	85,871	81,248	А	2.58	\$209,619.84
VALLEY CREST THE LUZERNE COUNTY HOME	140,544	134,447	125,928	A	2.58	\$324,894.24
VALLEY HEALTH CONCERNS, INC. T/A SHENANDOAH MANOR NRS CENTER	45,384	42,294	24,546			\$0.00
VALLEY VIEW HAVEN	43,920	42,227	16,798			\$0.00
VALLEY VIEW NURSING CENTER	87,840	83,427	68,106	Е	0.31	\$21,112.86
VALLEY VIEW NURSING HOME	46,848	40,453	26,893			\$0.00
VENAGO MANOR	78,324	68,196	50,639			\$0.00
VILLA TERSEA	67,344	66,814	40,607			\$0.00
WARREN MANOR	44,286	41,605	27,418			\$0.00
WASHINGTON COUNTY HEALTH CENTER	91,500	88,278	80,011	А	2.58	\$206,428.38
WESLEY VILLAGE	66,978	64,989	34,147			\$0.00
WESTERN RESERVE	48,678	46,729	32,499			\$0.00
WESTMINSTER VILLAGE/LEHIGH VALLEY	40,260	38,120	17,988			\$0.00
WESTMORELAND MANOR	197,640	181,843	166,134	А	2.58	\$428,625.72
WHITECLIFF NURSING CENTER ASSOCIATES T/A GILMORE'S WHITECLIFF NURSING HOME	56,364	44,221	23,859			\$0.00
WIGHTMAN CENTER FOR NURSING AND REHABILITATION	69,540	61,320	48,523			\$0.00
WILKINS HOUSE	42,456	38,803	31,175	F	0.21	\$6,546.75
WILLIAM PENN CARE CENTER	43,554	33,520	19,655			\$0.00
WILLIAM PENN NURSING CENTER	44,286	43,025	26,359			\$0.00
WOODLAND RETIREMENT CENTER	54,168	52,271	42,960	Е	0.31	\$13,317.60
YORK COUNTY NURSING HOME	181,170	148,606	139,993			\$0.00
YORK LUTHERAN RETIREMENT VILLAGE	38,064	35,275	23,062			\$0.00
YORK TERRACE	29,280	28,181	20,892			\$0.00
YORK UNITED METHODIST HOME	21,594	20,758	8,217			\$0.00

Last Modified: 08/01/2001